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QUESTION 1

A customer is looking to leverage a VMware Public Cloud solution to provide them with additional compute capacity as
seasonal demand increases for their online business.

The current on-premises data center is configured as follows:

1.

VMware vSphere 7.0

2.

VMware vSphere Distributed Switch (vDS) 7.0

3.

Management and Server network - 172.18.0.0/16

4,

vMotion network - 192.168.120.0/24

5.

250 application servers

Given the information in the scenario, which capability of VMware HCX will the customer not be able to utilize?

A. Cold migration

B. Layer 2 extension

C. Bulk migration

D. WAN optimization

Correct Answer: B

According to the VMware official guide, VMware Tanzu Service Mesh is a cloud-native service mesh platform that
simplifies the secure communication between microservices running in Kubernetes clusters . It provides secure and
consistent network communication between services and enables policy-driven authorization and observability. With its
distributed tracing capabilities, Tanzu Service Mesh can help administrators easily monitor and troubleshoot their

applications. It also provides a unified platform to manage the lifecycle of Tanzu Kubernetes clusters, including
provisioning, upgrades, patching, and more.

QUESTION 2
Which two statements depict the VMWare Multi-cloud Vision? (Choose two)
A. Deliver a consistent management and operations layer across any cloud

B. Run the workloads in the cloud to eliminate security issues.
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C. Standardize at the DevSecOps and infrastructure level.

D. Reduce the number of developers to increase productivity

E. Modernize applications in the cloud of choice using the cloud-native services of that cloud provider

Correct Answer: AE

VMware Multi-Cloud Vision enables customers to deliver a consistent management and operations layer across any
cloud, and to modernize applications in the cloud of choice using the cloud-native services of that cloud provider. It does

not run workloads in the cloud to eliminate security issues, standardize at the DevSecOps and infrastructure level, or
reduce the number of developers to increase productivity.

QUESTION 3

A cloud administrator Is tasked with creating a new network segment In the software- defined data center that utilizes
the corporate DHCP server to provide IP addresses.

What is the proper sequence to create the required network segments?

A. 1- Create a new segment attached to the Tler-O gateway

2. Configure the segment DHCP Ip-helper

B. 1. Create a DHCP server profile

2.

Create a new segment attached to the Tler-0 gateway

3.

Configure the segment DHCP config to utilize the new DHCP server profile

C. 1. Create a new segment attached to the Tier-1 gateway

2. Configure the segment DHCP ip-helper

D. 1. Create a DHCP relay profile

2.

Create a new segment attached to the Tler-1 gateway

3.

Configure the segment DHCP config to utilize the new DHCP relay profile

Correct Answer: B

https://docs.vmware.com/en/VMware-NSX-T-Data- Center/3.1/administration/GUID-
BF536EEF-7AC3-47D0-B4E6-E24B591530AA.html According to the VMware uide for Cloud Professional Exam
(https://mylearn.vmware.com/mgrreg/courses.cfm?ui=www_eduanda=oneandid_subject=45954 ),"To create a new

network segment that utilizes the corporate DHCP server to provide IP addresses, the following sequence should be
used: Create a DHCP server profile, create a new segment attached to the Tler-0 gateway, and configure the segment
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DHCP config to utilize the new DHCP server profile."

QUESTION 4

An organization Is running multiple applications that span different public clouds. The cloud administrator is asked to
perform budget management, cost reporting and cost forecasting from a single platform. Which VMware Cloud service
can the cloud administrator use to meet this requirement?

A. VMware vRealize Operations Cloud

B. VMware vRealize Network Insight Cloud

C. VMware vRealize Log Insight Cloud

D. CloudHealth by VMware

Correct Answer: D

CloudHealth by VMware is a cloud cost governance platform that provides budget management, cost reporting, and
cost forecasting from a single platform. It provides comprehensive visibility and control to manage cloud costs in hybrid

and multi-cloud environments. CloudHealth by VMware also provides cost optimization, resource optimization, and real-
time alerting capabilities to help organizations make cost-effective decisions to reduce cloud costs.

QUESTION 5

What are two key benefits of VMware\\'s partnerships with hyperscalers? (Choose two.)

A. Access to native public cloud services

B. Automation of infrastructure operations in a single view

C. Seamless workload migration across clouds

D. One-click conversion to cloud native services

E. Elimination of egress costs

Correct Answer: AC

VMware\\'s partnerships with hyperscalers, such as AWS and Google Cloud, provide customers with access to native
public cloud services and the ability to easily and securely migrate workloads between clouds. This allows customers to

take advantage of the best features of each cloud provider while managing their workloads in a single view. It also
eliminates the need to pay egress costs when moving workloads between clouds.
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